GIFTED 30
ENTRANCE TEST

Time : 02:30 Hours 0
Marks: 320 —]'MSS

DATE: 25-04-2021

Please read the instructions carefully. You are allotted 10 minutes specifically for this
purpose.

IMPORTANT INSTRUCTIONS
A. General:

—_

This booklet consists of 80 questions.

Blank papers, clipboards, log tables, slide rules, calculators, cellular phones, and electronic gadgets
in any form are not allowed to be carried inside the examination hall.

The answer sheet, a machine-readable Objective Response Sheet (OMR), is provided separately.

DO NOT TAMPER WITH / MUTILATE THE OMR OR THE BOOKLET.
Write Name and Address in capital letters of OMR sheet.
Submit the OMR Sheet back to Invigilator after examination before leaving the examination
hall.
B. Question paper format:
7. The question paper consists of 5 Sections.
(I Mental Ability (10 Questions) (Im) Mathematics (20 Questions)
(III) Phyiscs (15 Questions) (IV) Chemistry (15 Questions)
(V) Biology (20 Questions)
C. Marking Scheme :
8. For each question in Section I, II, IILIV & V you will be awarded 4 marks if you have darkened
only the bubble corresponding to the correct answer and zero mark if no bubble is darkened. In all
other cases where the answer marked is not correct, minus one (-1) mark will be awarded.
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MENTAL ABILITY

(a) 115 (b) 130
(c) 135 (d) 140

[f213=419; 322 =924; 415 = 16125, then
215 =7

(a) 425 (b) 1625

(c) 4125 (d) 2541

In the series;
641228742153862171413286

How many pairs of alternate number have a
difference of 27

(a) One (b) Two
(c) Three (d) Four

Cis A’s father’s nephew. D is A’s cousin but

not the brother of C. How is D related to C?
(a) Father (b) Sister

(c) Mother (d) Aunt

In a group of cows and hens, the number of
legs are 14 more than twice the number of
heads. How many cows are in the group?

(@5 ()7 ()11 (d)12

The reflex angle between the hands of the
clock at 10:25 is:

(a) 1800 (b) 1927

(c) 1950 (d)197%
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If DELHI is coded as 73541 and CALCUTTA
as 82589662, how can CALICUT be coded?

(a) 5279431 (b) 5978213
(c) 8251896 (c) 8543691

5
3
9
4

345

(a) 535 (b) 575
(c) 755 (d) 775

In a row of boys, if A is tenth from the left
and B is ninth from the right, interchange
their positions, A becomes fifteenth from
the left. How many boys are there in the
row?

(a)23 (b)27 (c)28 (d)31

Find the number of straight lines and the
number of triangles in the complex figure
given below

(a)10,15  (b)5,16
(©) 9,17 (d) 8,18

% 5185 UBAS UMM DELHI A 73541 3o
CALCUTTA o 82589662 w2l cll CALICUT
A 9 AvAL?

(a) 5279431
(c) 8251896

(b) 5978213
(c) 8543691

6
4
10 11
345 460 ?

(a) 535 (b) 575

(c) 755 (d) 775

Aol As slRHL A A sioll oueglell
gAML U ® Aal B A Rl ol el
olalHl eULA 8. %l AMell letell Weclnedl
scllHl WA AL A A stoll syl veul
22U WA V. Al SIRUL RJAL A OlsAAe{
dval dedl?

(a) 23 (b)27 (c)28 (d)31
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(a) 10,15 (b) 5,16
(©) 9,17 (d) 8,18




MATHEMATICS

The LCM and the HCF of two numbers are
144 and 12 respectively. How many such
pairs of number are possible?

@0 (1 (2 (d)10

Find the remainder when x33 is divided by

In a forest, a certain number of apes equal
to the square of one-eight of the total
number of their groups are playing and

having great fun. The rest of them are
twelve in number and are on an adjoining
hill. The echo of their shrieks from the hills
frightens them. They come and join the apes
in the forest and play with enthusiasm.
What is the total number of apes in the

forest?
(a) 16 (b) 48

(c)160r48 (d) 64

1
f— —_— nd— are in AP, then a2, b2
b+c’ c+a +b

and c? are in

(a) geometric progression
(b) arithmetic progression
(c) harmonic progression

(d) None of these.
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In the following figure, ABCD is a square
and AED is an equilateral triangle. Find the
value of a.

A

(a) 300 (b) 45 (c) 60° (d) 750

6. Arectangular sump has an inner length and
breadth of 24 m and 20 m respectively. Water
flows through an inlet pipe at 180 m per
minute. The cross-sectional area of the pipe is
0.5 m2. The tank takes half an hour to get filled.
Find the depth of the sump(in m).

(a) 4625 (b)6.125

(c)5.625  (d)5.125

7. Find the length of the chord which subtends an
angle of 1200 at the centre ‘O’ and which is ata
distance of 5 cm from the centre.

(a) 5v3 (b)2V3

(©) % (d) 10V3

. The value of 6(sin x + cos x)* +
12 (sin x - cos x)2 + 8(siné X + cos® x) is
(a) 30 (b) 36
(c) 26 (d)16

9. The probability that the month of April has
exactly 5 Mondays is

4 5 3 2
(a); (b); (C); (d);

5. o{lA WAAL 2us(AHl ABCD A ARYU B ua
AED A ¥HAy A5l 8. Al a ol (Bud
.

B C

(a)300  (b)45° (c)600  (d) 75"2—0

6. WS AUARYU 2isloll AicdRs dote wa
USlouES wafsN 24 2R wal 20 Hl2R B.
28l As Aissl otoll gL 180 Hler uld
MReatl e22l wrll 2 B, % otolletl
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(a) 4625 (b)6.125 (c)5.625 (d)5.125

7. A5 ddOHl 3oa 0 Al 5 Al iR wwAcll
P, 3o WA 120° ol WEI AR B, ll
ol doues .

@53 MV (@5 (@)10V3
8. 6(sinx + cos x)* + 12 (sin x - cos x)? + 8(sin®
X + C0S6 X) o{l (St

@30 ()36 (c)26 (d) 16
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4 5 3 2
(a); (b); (C); (d);




10. If one number is selected from the first 70
natural numbers, the probability that the
number is a solution of the equation x2 + 2x > 4
is

69
(@) o

= @1 (@0

11.Ifa+ b+ c=15 and a2 + b2 + ¢2= 83, find the
value of a3 + b3 +¢3 - 3abc.

(a)180  (b)200 (c)170  (d) 810

12. In the given figure MNQS is a cyclic
quadrilateral in which ZQNR = 619 and
x:y = 2: 1. The value of x and y respectively are

10 40 20 10

10 20 10 10
13. A kite in the shape of a square with each
diagonal 36 cm and having a tail in the shape of
an isosceles triangle of base 10 cm and each side
6 cm, is made of three different shades as shown
in the figure. How much paper of each shade has

been used in it? [Take V11 = 3.31]

(b) 108
(d) 4
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The slant height of a cone is increased by
P%. If radius remains same, the curved

surface area is increased by
(a) P% (b) P2%

(c) 2P% (d) 3P%

Find the total area of black portion.

/

20
(a) 100 - 257 (b) 100 - 507
(c) 200 - 257 (d) None

1 1

5v4+4+/5 + 6V5+5v6 T
1

—t...=
11V10+10v11

+

1 1 1 1
@F+7E (b)7§+ﬁ

1 1

1
O b ivr;

1
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A company reduced the salary of its
employees by 25% because of Wuhan
corona virus. In order to have their salary

back it must be raised by
@33;% (b)) 50%
(c) 25% (d) 43%

Which of the following is not a quadratic
equation?

(@) (x-2)2+1=2x-3

(b) x(x + 1)+8 =(x+2)(x - 2)
(c)x(2x+3)=x2+1
(d)(x+2)3=x3+4

14. % 2getll Welell Bl Aecl o AvctHl
A U Aofl AR QLwES Py Bl
quRaMl A dl Aol asruldle axsn
$ed a?
(@P%  (b)P% (c)2P% (d)3P%
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20
(a) 100 - 257 (b) 100 - 507
(c) 200 - 257 (d) None

1 1 1
6. 5vV4+45 + 6V5+5v6 tot 11V10+10V11l to=

1
1 1 1 1
@FtEm b F+ 747
1 1 1 1
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(a) (x-2)2+1=2x -3

(b) x(x + 1)+8 =(x+2)(x - 2)

(€) x(2x +3)=x2+ 1

(d) (x+2)3=x3+4




19.

IfvVx +1—+/x —1 = 1 then value of x is

@2 (s @ (A3

If x5 =1, solve for all values of:

2 3

1+x2 1+x% 1+x + 1+x3
(a) 4 (b) 3

(c) 2 (d)1

4

X X X X

PHYSICS

The gravitational force of attraction
between two bodies at a certain distance is
10 N. if the distance between them is
doubled, the force of attraction____

(a) decreases by 50%
(b) decreases by 75%
(c) increases by 50%

(d) increases by 75%

A rubber ball of mass 250 g hits a wall
normally with a velocity of
10 ms-1 and bounces back with a velocity of

8 ms-1. The impulse on ball is Ns.
(a) -0.5 (b) +0.5
(c)-4.5 (d) +4.5

The momentum of a body is increased by
50%. If v1 is the initial velocity of the body,

the change in kinetic energy is
(@) 2mv? (b) valz

@imv?  (d)Imv?

20. %l x5=1 &lA Al 1x +
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A man blows a whistle and hears an echo
after 1.2 seconds. The distance between the
man and the reflector of the sound is

m. (take velocity of sound in air is

330 ms1)
(a) 250 (b) 190
(c) 298 (d) 198

The frequency of sound waves is 11 kHz
and its wavelength is 20 cm, then the
velocity of sound wave is.

(a)220ms-! (b)220cms-t
(c) 2200 cm s-1(d) 2200 ms-!

A body starts from rest. What is the ratio of
the distance travelled by the body during
the 4th and 3rd second.

(a) 7/5 (b) 5/7
(c)7/3 (d)3/7

A mass of 100 g strikes the wall with speed
5 m s-1 at an angle as shown in figure and it
rebounds with the same speed. If the
contact times is

2 X 10-3 sec, what is the

force applied by the wall?

(a) 250v/3N to right
(b) 250 N to right

(c) 250 V3 N to left

(d) 250 N to left 100g
A force of 100 N acts an on a ball moving on
a surface. The force of fiction that must act
between the surface of the ball and the
surface so that the ball keeps on moving
with constant velocity over the surface
must be

(a) zero (b) 100 N

(c) 200N (d) 300 N

As HERWRL RS wud B Bl UsH 1.2
As0s ULl Aol 8. A HIRR A tella ol
URldds dRgf AR e ql.
(el tallalell QoL 330 Hl/A. A)

(a) 250 (b) 190
(c) 298 (d) 198

el 200 ol wg(Q 11 KHZ el Asll
AR2LAGUE 20 cm B. A el 9L o1l AdL
.

(a) 220 m st
(c) 2200 cm st

(b) 220 cm 51
(d) 2200 ms-?

As ueld RAR wcratHidl auldsdl a3 52
8, Al ueld gt Al ua Ay Ass
gRAlet 5LAA R oll 9l 2.

(@) 7/5 (b)5/7

(c)7/3 (d)3/7

lg(Aul eallcall Yoror, 100 UM O URLAA
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»sudl wesl Estad 8. ol Aud A 2 x 10-3
As0s A dl, €lald sl 326 Wn cldldl?
(a) 250v3N %2 »¥HR(l dR%

(b) 250 N ®2¢] »¥HQll dR$

(c) 250 V3N ®2q] Sloll dRs

(d) 250 N g2 stell dRs

100 g
As ollcd 100 N Fectl ol Autél uR auld
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A MR Al Al JUdl dRe] udgluan deq
8lg AU ?
(a) Yol (b) 100 N
(c) 200N (d) 300 N




9. Which of the following graphs correctly
represents the variation of g on earth?

() %

In which of the following cases is work
done maximum r

@ —— . 0O s

S

F F
(c) \ (d) L
) 6w

Two bodies have their masses mi/m; = 3
K.E 1

and their kinetic energies L = The
KE, 3

ratio of their velocity are

(a) 1:1 (b) 1:2

(c)1:3 (d) 2:3

Two boys A and B lift 100 bricks through
the same height in 5 minutes and 6 minutes
respectively.

(a) A has more power than B
(b) B has more power than A
(c) both have same power
(d) none of the above

Calculate the wavelength of radio waves of
frequency 109 Hz. The speed of radio waves
is 3x108ms-1!

(a) 60 cm (b) 40 cm

(c)30cm (d) 10 cm
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(@1:1 (b)1:2 (c)1:3 (d) 2:3
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Two particles of equal mass are revolving
with the same liner speed on circular path
of radii r1 and r2. The ratio of the
centripetal force acting on them will be

Ok wﬁ%
© (:—2)2 (@ (:—2)2

Heat gained by 1 g of water when heated
from 0°C to 100°C is
(a) 4200 cal. (b) 4.2 cal.

(c) 100 cal. (d) 1 cal

CHEMISTRY

Element having highest atomic radius
among the following is

(a) Ne (b)Be (c)Li (d)C
Baking powder is a mixture of

(a) Sodium carbonate and sodium
hydrogen carbonate

(b) Sodium carbonate and acetic acid

(c) Sodium hydrogen carbonate and
methanoic acid

(d) Sodium hydrogen carbonate and
tartaric acid

If the aluminium salt of anion X’ is Al2X3
the formula of magnesium salt of X’ will

be
(a) Mg2X (b) MgX2
(c) MgX (d) Mg2Xs

Which of the following element shows

maximum allotropy?
(a) Sulphur (b) Oxygen

(c) Phosphorus (d) Chlorin

14, YHlel €O YRl AL AL 5B AUHLet 2u{laL

Bsull r1 U r2 Bl ypnddl adousiR
YU UR $2 8. cl dHell U cloldl ¥os ouHl
AT AR EN G EREN

(a):—j (b) \/?—i ©) C—: i (d) (:—i)z

1o wiell & ooc el 1000 Yl oRU

scllHL A Al Aoll gLl 3ecll Gt lmia?
(a) 4200 33\ (b) 4.2 33l
(c) 100 33l (d) 133l

ULARUA sl

ollA WAL cdAcclMiell Al ay umeclla
Al YRleld deat 8.
(@Ne  (b)Be ()Li (d)C

. Aol was? of A1l B.

(a) W stellale Aol W32auH sLESoset
stollale

(b) ABan steilale wal ARERSs ARS

(c) ABaH syt slollae W MAAESs
ARS

(d) WM sl8Qwet slollale ua 28RS
ARS

3. %l Rl ‘X oll ARAAUM &R AlzX3 &l

dl, x oll RoRAH &llRe] AR
&9l

(a) Mg:X (b)MgX. (c)MgX  (d) MgXs

. ollAottuiell 53 ceal HeTH AWURIUL URlA

8?
(a) HUcsR
(c) slRsAU

(b) ulsloset
(d) scA3let




Renewable source of energy is
(a) Coal (b) Petroleum

(c) Natural Gas (d) Wind

Ajay has a stung by red ant, it causes

itching and irritation. The sting consists

of which of the following acid?
(a) CH3COOH (b) HCI
(c) H2CO3 (d) HCOOH

Select a pair of homologous from the
following

(a) C3He and C4H10

(b) CH3COOH and C2HsCOOH
(c) C4Hs and C3H4

(d) (CH3)2CO and C3H7CHO

Which natural indicator (acid-base) is
used in kitchens of our homes?

(a) Sodium chloride
(b) Tea leaves
(c) Sodium carbonate

(d) Turmeric

The compound containing both covalent

and ionic bond is:

(a) MgCl2 (b) NH4Cl

(c) CaO (d) AlBr3

Which of the following salt contains

maximum number of water of
crystallization?

(a) Potash alum
(b) Baking soda
(c) Washing soda

(d) Gypsum

5. Gasloll Yo,y Bl B.

(a) sl (b) VA(AUH
(c) sexcl alyy  (d) uast

. Al Al SISIA Sw MRl Bell 512 A

vloscllol Aol HOLARL WofdA 8, SlSlell Sw
ol Aottuiell 52 AR YA B?

(a) CH3COOH (b) HCI
(c) H2CO3 (d) HCOOH

7. ol WAL urteteHl Aell{l sls urie

53

(a) CsHe and C4H1o0

(b) CH3COOH and C2HsCOOH
(c) C4Hs and C3H4

(d) (CH3)2€C0 and C3H7CHO

. o{lAstiell s20 gecdl Yus RIRS-ASR)

Al BURIL URHL RUSIHL cuURlA B?
(a) ABAH sARSS

(b) Utell ucll

(c) AlBan stlale

(d) 8NER

UsUAYS A LS oitl URncld HAwet
B.

(a) MgCl2 (b) NH4ClI
(c) CaO (d) AlBrs3

- ollRAetiell s alR wRSlsul el ay
(HeH) well urla 82

(a) Walal — AAH

(b) A(8a1 Ast

(c) Aot Ast

(d) WA




Cell used in clocks convert

(a) Potential Energy to Kinetic Energy
(b) Kinetic Energy to Electrical Energy

(c) Chemical Energy to Electrical Energy

(d) Electrical Energy to Potential Energy

Consider the chemical formulae
CH3COOH and HCOOCHs3 and choose the
incorrect

(a) Both have the equal boiling
point

(b) Both have the equal molecular
weight

(c) Both have the equal number

of covalent bond

(d) Both have different functional
groups

Which one of the following is not a
base?

(a) BOOH)s  (b) KOH

(c) Ca(OH)2  (d) NH4OH

An element ‘X’ has the same number of
electrons in the first and the forth shell
as well as in the second and the third
shell. What is the formula and nature of
its oxide?

(a) XO, Neutral

(b) X02, Acidic

(c) XO2, Amphoteric

(d) XO, basic

1.yl duRpndl sy (Qedl)

uRadst 52 ®.

(a) RAMAG il oUlAGH

(b) oUAGT Hiell (AgyGasini

(c) AUAB s GosiHiell (AgycGasini
(d) QG Hiell RA(AGUL

12. CH3COOH el HCOOCH3 R2A@s yAx

WUR o(lActHidll Vg Qutet ue 3.
(a) il UMlotl Bsctollolg uRA B.
(b) ool UMt vRcflacrk YR B.

(c) 6lal UHlol AvALHL AedA xS ol
Y .
(d) diatatl (Baullet UYEL UL dl 8.

.ot 520 A otell?

(a) B(OH)3
(c) Ca(OH)2

(b) KOH
(d) NH«OH

% deel WRA YuH Al A setHl 1Mot

AuAl ol BASTA YRAA B A%y A ol wad
Al selHl ULl AHLel dvadHl 8As2et uRAd
8. l Ao] WRQYA g & el Aol

WAL Sl el Fll &7

(a) X0, de¥d (b) X0z, RB s
(c) X02, Gatauopeludl  (d) X0, AlR3s




Match the columns and mark the
correct option:

Column-I

Column-II

PVC

Artificial silk

PHBV

Artificial wool

A
B
C

Orlon

Coating of
electrical
wires

D

Rayon

S

Biodegradable
polymer

(a) A-p, B-q, C-r, D-s

(b) A-q, B-r, C-s, D-p

(c) A-r, B-s C-p, D-q

(d) A-r, B-s, C-q, D-p

15. 200 lssi HS| A [@Aseu urle sA:

SIAH-T

SIAH-TT

PVC

s 2

PHBV

s Got

R ALt

(AgjctcuRq]
ULCRRL

EENG

Kaldueolla
WAHR

(a) A-p, B-q, C-1, D-s
(b) A-q, B-1, C-s,D-p
(c) A-r, B-s C-p, D-q
(d) A-r, B-s, C-q, D-p

Rough work




BIOLOGY

Study the graph below that represent the
amount of energy supplied with respect to

%A silot

1. o{lAell AULGll MeUR $A 3 B AW

AN €19l &l B A yHAL deel Hi

the time while an athlete is running at full
speed.

YRU WsalHl vl Gast ofl 1o R 52
0.

—

00 |-

~
4]
|

~
o
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N
o

Energy supplied (%)
o
o

plot B

N
(o ]

plot B

Energy supplied (%)
o
o

L 1 L
1

3 5
Time running at full speed (min) ; é é
Time running at full speed (min)

{lAell Sles Hi WA e AR (Qullet
ol 2= s udE 53

Chose the correct combination of plots and
justification provided in the following table.

Plot A

Plot B

Justification

Aerobic

Anaerobic

Amount of energy
is low and
inconsistent in
aerobic and high
in anaerobic

Aerobic

Anaerobic

Amount of energy
is high and
consistent in
aerobic and low in
anaerobic

Anaerobic

Aerobic

Amount of energy
is high and
consistent in
aerobic and low in
anaerobic

Anaerobic

Aerobic

Amount of energy
is high and
inconsistent in
anaerobic and low
in aerobic

wHle-A

wle—B

Qulet

a. ¥Rs

WXIRS

Gl ol ol
xRS Hi gl
W WA W

WARS Hl Ay
8.

Goslofl MU RS
Hi Yy el Aold
A AARS Ui
AU .

Gosloll HLoU 125
Hi dy o Aold
Ul wURs Hl
A B.

R GURTET
AWXRS Hl Ay
U AU}t Aal
R8s Hi W B.




2. Select out the incorrect statement(s).

A. Zygote undergoes a series of meiotic
divisions called cleavage.

B. The zygote is implanted in blastocyst stage
on to the uterine wall.

C. The rhythmic contractions of muscles in the
uterus occurs in the presence of
progesterone.

D. The stoppage of menstruation is called
menopause.

(a) Aonly
(c)Aand C

(b)Cand D
(d)Band D

3. Consider the following statements :

(A) The binomial nomenclature is a way to
identify vast diversity of life around us.

(B) Species is the lowest taxonomic category
having minimum similarities.

(C) Homologous structures are structures
sharing an evolutionary origin.

Which of these statement(s) is/are correct?

(a) (A) and (B) (b) (B) and (C)

(c) (A) and (C) (d) All are correct

4. According the survey conducted in 2010-
2012, the graph depicts the sex-ratio in
Haryana. The ratio of child sex ratio was found
to be lower than the expected

mal
male o

female
80 female male

60 female

Percentage

40

20

20111
Year

What could be the possible for such difference in
child sex ratio?

(a) Sexually transmitted disease
(b) No use of contraceptives
(c) Female foeticides

(d) Hormonal imbalance

2. Wig [Quuet/Quiell urie s
(A) s@dis of arRaR ulsL &l [Qeucsst
Al B, B [Quisel 53 B.
(B) s@dis oliae{l (Reauct uR oleisls
slaoll dosst ui el a8,
(C)atealal oll wlYrloj AJAGLG A5 U
YgeAet ol L3l 1l B.
(D) BdUs ol 6it Uclal AU 53 B.
(a) $5cL A (b) C A D
() Aua C () BuaAD
3. o{lA Al Qulell tallot Hi AW
(A) Botint attms0l ugld A ugll
WU ol ot ol [Qaun [QQudia
Aol Hol 8.
(B) (A A co(ls20ue(l Alell lucl ARl &.
BUL WNOHL WL AHLoAARA B.
(C) UUUEL VoUW o0 B. % Geldsilla
Gdul e2ia ®.
WAL [Quell USl sl Qutell uul B2
() (A) el (B)  (b) (B) ¥ (C)
(©) (A) A (C)  (d) AHAA dAHIH
4. 2010 — 12 Hl saHl AUAA U yxo,
WA s slRal ol i ol ald B,
Wl oll SUA-oJBlriR AVl sl AL B,

male
100 male

female
female male

®
o

female

Percentage
b O
o O

N
o

WS otl (A — 9JBlR Ml el dslcld
HER of AU SR04 g &l AuF B2

(a) st A0

(b) 2el@Rus ol Gullol «iell

(c) ¥l QL &cll

(d) Bcaudla Bdest




5. An analysis of soil sample revealed 0.5mg of . wHlot ol Oﬂjcrll all @%@NQL Hi 0.5 ml

pesticide and 1mg of the same pesticide was °o"cj°'ll%L8 Wl Doy °K<j°il%t8 1 mg ol Mo
found in grains growing in the soil. However in

the adipose tissue of birds which feed on those glot 1 GoUsell ot Ui Holl VUK &d.
grains the concentration was 2mg. The reason for A ¥ ugllAlell Ae VAl Hi B A Wall A

v 8, Aol Algdl 2 mg ecdl. w veall
(a) Bio-absorption (b) Bio-translocation o o $10L A3 L 8.
(c) Bio-magnification  (d) Bio-multiplication (a) ¥lAs Awal (b) ¥(As UNIAR0L
(c) ¥QAs (AQauctst (d) ¥As g(&

this is the phenomenon known as.

6.When parents P; and P; are crossed, F2 progeny L wRUR [ﬁq P, ¥ P, of ASWL sRcUHL uLQ,

was produced with 3/4 similar feature in A F, dd@ P, AR Fy ol 2ullcl 23U ol 3/4
phenotype to P; and F1 and 1/4 possessed

contrasting traits. If the traits being considered AL caell LRl B. s 1/4 (QRleueuxll
here are for height with T for tall and t for short. Aelll YA 8. %l Wl trllel Ml Adldl
What will be the possible genotype of P; and 1/4 ARl Hi Al 2 A “T Gl 29 v
of F;? '

oflul tallet Hi AwcHL WA AL Py ual 1/,
F, Hle AsA Eullel a3 9 8l b2
(a) tt Aol Tt (b) Tt W tt
(c) Tt Aol Tt (d) tt A tt

(a) ttand Tt (b) Ttand tt
(c) Ttand Tt (d) ttand tt

7.The guard cells are also capable of - 285 5Ll URL sl eawy 53 ab ®. SRl
photosynthesis because they have 5d__ uad,

(a) 51N, Slud0%, cllAZost

(b) SR, SlMdo%, cllRASIA

(c) S1MRY, slu3os, sRcsEl

(d) s1HRY, slndos, VYA

(a) cytoplasm, nucleus, centrioles
(b) cytoplasm, nucleus, centrosome
(c) cytoplasm, nucleus, chloroplasts

(d) cytoplasm, nucleus, chromosomes




8.In which one of the following, the genus name, its

two characters and its phylum are not correctly
matched, whereas the remaining three are

correct?

Genus name

Two
characters

Phylum

1. Pila

(a) Body
segmented
(b) CaCOs3
shell is
secreted by
mantle

Molluse

2.Asterias

(a) Spiny
skinned

(b) Water
driven tube

Echinodermara

(a) Pore
bearing
(b) Canal
system

Porifera

4.
Periplaneta

(a) Jointed
appendages
(b)
Chitinous
exoskeleton

Arthropoda

9.From the given figure identify the part of human
brain controlling most of the involuntary actions

(A)A&B
(c)C&D

8. WA Yasi(d, Aol A Bl A AYELA ofl

ofls Ul 5¢5 ls AyRud A otell, >R
wSloll AQL A3 AYEl UHLtcAl YR B,

ysild of otidt

ol dael

AELA

1. WeAl (2w)

a. WSl Ysd AR
b. Re2d GlRL
CaCO, scU o
alc A B.

yesla

2. AR

a. steloll 1l
b. ®cclles llAst
dat

3. AUR_LSlet

a. [®a YRl
b. ol[@Aslcd

4. cel

a. AYsct Guioll
b. 5L8&lat of
olole] GlaLssIA

9. AU wsl@ uell Mel ewdtefl HARDs
Bl A2 $cll Hlotel HIL il
@Ol WL,

(b)B&C
(d)D&A




10. Consider the statements.

A. Oral Rehydration Solution (ORS) should be
given to cholera or diarrhea patients at
regular intervals.

B. Poliovirus is transmitted through food or
water and ultimately affect central nervous
system.

C. E.coli and Shigella bacteria are responsible for
Diarrhea disease.

D. Rhino viruses are responsible for common
cold.

The correct statements are

(@)Aand D
(c)A,Cand D

(b)A,B,Cand D
(d)A,Band D

11. Onion peel cells were placed in hypertonic
solution for sometime and then observed
under the microscope out of A, B,C, D which is
the correct observation ?

Cell wall

Cytoplasm

Nucleus

Cell wall

Nucleus A=

() A (b)B (aC (d)D

12. Consider the following statements:
(A) Lysosomes are formed by endoplasmic
reticulum.
(B) The inner membrane of mitochondria is
porous.
(C) The enzymes found inside lysosomes are
synthesized by rough endoplasmic
reticulum.
(D) Osmosis is a special type of diffusion of
water from a dilute solution to a
concentrated solution.
Which of these statement(s) is/are
correct?

(@) (A)only  (b) (B)only

(c) (C) and (D) (d) All are correct

10. AUAA (Qtuallal t2uletHl A
A. ¥RA Realgalet Aejalst (ORS), SARL
waal AR (ABLsL) oll £€RAL [(Rauct
AR HL AU CHL 21 B,
B. WA cttay vllrts aat wll stt et
8. Wl HLRRYU AclldA ol AU uslud B.
C. 8 — slalleS wal QAa asz3la AlAuR
/BLSL HIS ACAUHER 8.
D. Reoll cllaRU AUHIeA AREL M2 HAUHER B,
WA U8 sal @Qutet AL B?
(a) A¥al D (b) A, B, C¥al D
() A CUAD (d) A, B¥a D
11. $9L0ll oll SN A AlstuH2A M2 A[@U% alal
H HsclHi wA B, Al ugl yeHedls 2o M
(A3l srauul 2w B. A,B,c,D Hidl 53
Y [ARew 82

_‘;\W\ fgalct  (u)

(@A (b)B (9C (d)D

12. AUAA [Quell o tallet M AL

(A) GULANBIRU A A SIMR™U A 6l ol
.

(B) SRUGRIA of ER of Uect [Balg) dla B.

(C) AULUNAM ofl BlE HAAL Bict: BUA of
AANRL WRAASL vlct: slHRUAO Ad
Ul 8.

(D) wy(A A well of He atarl &l Ui alaa
AR of QAN YsIRe] YU B.
AU U8l sl Qutet uauL B?
(a) 85 ‘@’ (b) 5 b’
(€)‘c AR ‘d’ (d) AHAA A




13. Consider the following statements :
(A) Plants are divided into five groups:
Thallophytes, Bryophytes, Pteridophytes,
Gymnosperms and Angiosperms.
(B) Lichens are examples of liverworts.
(C) The algae are vascular plants.
(D) Angiosperm is the least diversified form

than any other plant groups.

Which of these statement(s) is/are correct?
(a) (A), (B) and (C) (b) (B), (C) and (D)
(c) (A) and (D) (d) All are correct

14.

Column II
(p) Excretion
(q) Translocation of food

Column I
(A) Phloem
(B) Nephron

(C) Veins
(D) Platelets

(r) Clotting of blood
(s) Deoxygenated blood

(@)A-(q);B-(p);C-(s); D-(r)
(b) A-(p); B-(q); C-(s); D-(r)
()A-(q);B-(p);C-(r);D-(s)
(d)A-(q);B-(s);C-(p)D-(r)

15. Evolution is

(a) arapid development of more complex
species from pre existing simpler forms.

(b) a gradual development of more complex
species from pre-existing simpler forms.

(c) arapid development of simpler species
from pre existing complex forms.

(d) a gradual development of more simpler
species from pre-existing complex forms.

13. WA (Quuell ol trllet i Al
(A) cotru(QAA Ui gUHl adAcHl U
8. Asioll, (duidll, Buidll, wgd
ollostl3, wotlgd ollesul.
(B) cAl}ot A flaRcld ol GelsRW B.
(€) dlat adluzll widl aotiuld ®.
(D) g ol Wt cotuld U
sl 3ol Hi | dQudl uAd B.
WA [Quet U8l sal ww 8?
() (), (B) Al (C) (b) (B), (C) ¥l (D)
() (A) A (D) (d) ANAA AU

SIAM — I
(P) Grluasal
(Q) WIRLS of ddst
(R) 3R o dlslg
(S) BEA%Yet [AlRet

SIAM — |
(A) AAALES
(B) BLolulsH
(c) QR
(D) 2ssllsial

/3@Rs(@s14 AR

(@)A-(q);B-(p);C~(s); D~ (r)
(b) A-(p);B-(q); C~(s); D~(r)
(c)A-(q);B-(p); C-(r); D-(s)
(d)A-(q);B-(s)C-(p)sD-(r)

15. GelAsiy ..

(a) Yd uRAet ugadl a0l widl
olcl HRA Uatl Ul AU BsU
Qs

(b) Yd uRAet ugadl A0 stlazauidl
otcl HRA Ut YRl (AU LA
Qs

(c) Yyd AuRA uRladl wRet sl
tRLelcdl (A Hiell AR st (ARAHI
»sUl [Asl.

(d) yd sk ugnddl sRet uatl uRladl
ost(Aull Higll AR Qa1 Qs




16. In the given figure, the various trophic level
are shown in a pyramid. At which trophic level
is minimum energy available?

(a) T4 (b) T2
()T (d) Ts

17. Carefully observe the diagram(s) given below

Melting of ice caps —>  Rise in ——> Sybmergence
sea level of low-lying
areas

Cause of following effects is
(a) global warming

(b) ozone depletion

(c) acid rain

(d) None

18. Khadins, Bundhis, Ahars and Kattas are
ancient structures that are examples for
(a) grain storage
(b) wood storage
(c) water harvesting
(d) soil conservation

19. The type of soil is decided by the average
size of particles, but the quality of soil is
decided by
(a) uniformity of particles
(b) amount of humus
(c) microscopic organisms
(d) amount of humus and the microscopic

organism found in it

16. A WS(AHL WMs A QRAAS Hi
gldd B. sall R UR Wl | Gost
o2

(a) T4 (b) T, (C) T (d) Ts

Melting of 1ce caps —>  Rise in —— Sybmergence
sea level of low-lying
areas

UUA Yol of sRQL__ B,

(a) o)AuA BTt

(b) ARl WA (VL)

(c) ARs anl

(d) As ULl ot8l

18. UlRllot AU - wslat, oftll, 2SR, s81 W

o Gelgrul B.
(a) ol A2LE

(c) well A=A

(b) CUSSle] oL
(d) sHlot el

- gHloto] YsiR sQU oll URRAU sEUR L atssl
scUML A B, URd wHlet ofl opataldl
W Yl otssl aa .

(a) 500 ol As3uUdl

(b) Al ueLl of yuial

(c) ¥eH v

(d) Al uetelo] YHgL Aol Aul ¥cl
Yau .




20. If the chyme of a person who had orally 20.% HIRRL H8L gLl VRS Hi $5c R dla

consumed only starch as food is analyzed : : :
S d
before it enters the duodenum, it will show 82 ot w6US 1 @@&L’l HsdlRlE A

the presence of USLRAAL USEL sallHL A Ll Al ol

(2) maltose and glucose slogd) %l HOA
(b) dextrin and maltose ’

(c) starch, dextrin and maltose (a) HIERLDS Al 3(:19.35
(d) starch, dextrin and glucose (b) 3&dlot vl HIALH

(c) 13, daidlol ual HIEl
(d) R, d&tdlot ual a8l

Rough work
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